
SAP ABAP table RGUD0 {Screen table for totals records display}

RGUD0

LEDGER [CHAR (2)]

UTAB [CHAR (30)]

RTCUR [CUKY (5)]

LCURR [CUKY (5)]

GCURR [CUKY (5)]

RUNIT [UNIT (3)]

RTCUR_SUM [CUKY (5)]

DOCTY [CHAR (2)]

ACTIV [CHAR (4)]

AUNIT [UNIT (3)]

RLDNR [CHAR (2)]

BUKRS [CHAR (4)]

RCOMP [CHAR (6)]

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RGUD0-BUKRS = T001-BUKRS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RGUD0-AUNIT = T006-MSEHI 

0..N

0..N

 RGUD0-RUNIT = T006-MSEHI 0..N

0..N

T022

ACTIVITY [CHAR (4)]
 RGUD0-ACTIV = T022-ACTIVITY 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]
 RGUD0-RCOMP = T880-RCOMP 0..N

0..N

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 RGUD0-LEDGER = T881-RLDNR 
0..N

0..N  RGUD0-RLDNR = T881-RLDNR 0..N

0..N T883S

MANDT [CLNT (3)]

UTAB [CHAR (30)]

 RGUD0-UTAB = T883S-UTAB 

0..N

0..N

T889

MANDT [CLNT (3)]

DOCTY [CHAR (2)]

 RGUD0-DOCTY = T889-DOCTY 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RGUD0-GCURR = TCURC-WAERS 

0..N

0..N

 RGUD0-LCURR = TCURC-WAERS 

0..N

0..N

 RGUD0-RTCUR = TCURC-WAERS 

0..N

0..N

 RGUD0-RTCUR_SUM = TCURC-WAERS 
0..N

0..N


